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House of Cards

1. Choose your opening bid.

(a)

A KQ6
v AT87
* Q732
® A7

(d)

a A9

v AJT73
+ K76

® 962

(b)
a 87
v KQ5
¢+ Q983
* AQ84

(e)
A A9863
v AKQT
¢ 64
® 32

(c)

a A93

v AT3

+ AJ654
% 64

(f)

s K7

v Q87

¢+ AQJTS8
« 852

2. What do you respond with these hands?

(i)if partner opens INT
(ii)if partner opens 1v.

(@)

a K76
v JT87
* Q732
& A7

i)

(d)

A AQT732
v A9

* K76

* 96

i)
i)

)]
A K87654

v 76
¢+ 854
* 64

(b)
A 876
v KQ5
+ Q98
* AQ84

(e)
A 986
v 98
¢+ J86543

* Q6

(h)
a K87
v AJ7
* AK2
% 9842

(c)

a AJ9

v AQT
* A7

% J8432

(f)

s K7

v QJ7

¢ AQJTS8
% 875

()

A K87
v 9764
¢ 732
« K54

3. Explain in your own words the difference

between a INT opening bid and a 1% opening
bid.

4. Why do you always pass as responder after
partner's INT opening, when you have a
balanced hand and 10 hcp?

5. Why do you never pass as responder after
partner's 1a opening, when you have a balanced
hand and 10 points?
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